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ECONOMICS
[ Honours ]
PAPER ~1

Full Marks : 90

Time : 4 hours

The figures in the right hand margin indicate marks

Candidates are required to give their answers in their
own words as far as practicable

Hllustrate the answers wherever necessary

Use separate script for each Half

[ FIRST HALF |

( Micro Economics -1)

[ Marks : 45 ]

{ Turn Over }



(b)
(c)
(d)

(e)

)

(g)

(n)

(2)

GROUP - A
Answer any five questions : 2%x5
What is indifference curve ?
Define Marginal Rate of substitution (MRS).
What is production function ?

What do you mean by 'shut down point’' of
a competitive firm in the short run.

Distinguish between Giffen goods and
inferior goods.

Define cross price elasticity of demand.
What is monopoly market ?

What will be the shape of the LAC curve if
the firm operates under increasing returns
to scale condition.

GROUP —B
Answer any three questions 5x3

2. Analyse the shape of demand curve of an
inferior good. 5
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(3)

Analyse short run equilibrium of a competitive
firm. 5

Define price effect, income effect and substltutlon
effect. - 1 +1_ +9

What are thé three stages of produptlon?
Explain with a diagram. 5

Explain why average cost curve is 'U'-shapped 7 5

Distinguish between multiplant monopolist and

price-discriminating monopolist. 5
GROUP - C
Answer any two questions : 10 x2

Prove that Indifference curve is negatively sloped
and convex to the origin. When does it become
a downward straight line ? . A+4+2

Define expansion path ? Show that.expansion
pathis a straight line passing through the origin

in case of Cobb Douglas production function. 3 +7
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(4)

10. Discuss how a firm chooses the least cost factor
combination. 10

11. Distinguish between compensated demand curve
and ordinary demand curve. Show that ordinary
demand curve is more elastic in case of normal

goods. 4+6
[ SECOND HALF]
(Macro Economics-1}
[ Marks : 45 ]
GROUP —A
Answer any five questions : 2x5

1. (@) Whatis money multiplier ?
(b) Distinguish between GNP and GDP.

(¢) What is Marginal Efficiency of Capital
(MEC) ? '

(d) Define repo rate and reverse repo rate.

(¢) What are the functions of money ?
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(3)

() Whatis consumption function ? |

(g) Distinguish between Autonomous Investment
and Induced Investment.

(k) Whatis speculativé_-dé}nand for money ?

GROUP - B

Answer any three questioﬁs: 5%3

2. Explain two credit control mechanisms of the
' central bank. | "

3. Consider the model :

S =1

S (1) = 0-02 ¥(©)
| Y (¢) = 2k (£ and-I (0) = 100
. Find the time path of Investment.

4. Discuss the properties of Keynesian consumption
function ?

5." Explain the concept of liquidity trap. -
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10.

11.

(6)

Discuss briefly the portfolio selection for an asset
holder who is known as risk diversities.

Explain briefly the concept of crowding out
effect.

GROUP —-C
Answer any two questions : 10x2
Show how commercial banks create deposit.

What are its limitations ? 10

Discuss the aggregate demand for money function
with the help of liquidity preference theory. 10

What is Ratehet Effect in consumption ? How
does Duesenberry's Relative income hypothesis
explain the short run variablity and long run
constancy of average propensity to consume ? .10

Write notes on : . - . 5+5

(/) Paradox ofthriftand

(if) Okun's law.
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